Maths 3

Mastery
1.

Lizziebeth is making a cup of fizzy orange.

She first pours in 15ml of orange juice. She then pours in 87ml of lemonade.

How much fizzy orange does Lizziebeth now have?

2.

Johnny is making some tropical juice.

He pours in 43ml of orange juice.

He then pours in 36ml of pineapple juice. Finally, he pours in 94ml of apple juice.

How much tropical juice does Johnny have?

3.

Johnny and Lizziebeth are both making cups of tea.

Johnny puts 112ml of water into a cup with 49ml of milk in.

Lizziebeth puts 98ml of water into a cup with 67ml of milk.

A) How much tea does each child have?
B) Who has the most tea?

C) What is the difference between the amount of tea they have?



